
SAP ABAP table FERC_C1 {Controlling area dependent parameters}

FERC_C1

MANDT [CLNT (3)]

RUN_ID [NUMC (4)]

KTOKS [CHAR (4)]

CPCE_BENE [CHAR (10)]

CPCE_DEFAU [CHAR (10)]

CPCE_PAYRT [CHAR (10)]

DTYP_BS [CHAR (2)]

DTYP_PL [CHAR (2)]

DTYP_SC [CHAR (2)]

CO_VERSION [CHAR (3)]

FI_VERSION [CHAR (3)]

CSKA

MANDT [CLNT (3)]

KTOPL [CHAR (4)]

KSTAR [CHAR (10)]

 FERC_C1-CPCE_BENE = CSKA-KSTAR 

0..N

{0,1}

 FERC_C1-CPCE_DEFAU = CSKA-KSTAR 0..N

{0,1}

 FERC_C1-CPCE_PAYRT = CSKA-KSTAR 

0..N

0..N

FERC_R0

MANDT [CLNT (3)]

RUN_ID [NUMC (4)]
 FERC_C1-RUN_ID = FERC_R0-RUN_ID 1

1

T000

MANDT [CLNT (3)]
 FERC_C1-MANDT = T000-MANDT 

0..N

{0,1}
T003

MANDT [CLNT (3)]

BLART [CHAR (2)]

 FERC_C1-DTYP_BS = T003-BLART 

0..N

{0,1}

 FERC_C1-DTYP_PL = T003-BLART 
0..N

{0,1}

 FERC_C1-DTYP_SC = T003-BLART 0..N{0,1}

T077S

MANDT [CLNT (3)]

KTOPL [CHAR (4)]

KTOKS [CHAR (4)]

 FERC_C1-KTOKS = T077S-KTOKS 

0..N

{0,1}

T894

MANDT [CLNT (3)]

RLDNR [CHAR (2)]

RVERS [CHAR (3)]

 FERC_C1-FI_VERSION = T894-RVERS 

0..N

{0,1}

TKA09

MANDT [CLNT (3)]

KOKRS [CHAR (4)]

VERSN [CHAR (3)]

 FERC_C1-CO_VERSION = TKA09-VERSN 

0..N

{0,1}


